vier Briiche, Dezimalstellen, Reihenfolge der
Operationen

1
7~ 58X2-20x4,5+4=

3
2,8+2,8x5+ %=

3—6x2;2+4X48—
4 5 ’

1
5+12%2,1+4-3x58=

Datum: Ergebnis:

2—42X4+8x1;4—
3 7 3

1
2,9_5,1X4+§:

1
4,6-3,7%3+ 2 =

1
¢8+8X4+10Xi9+2=

1
Z+2,5x5-4,8=
2 b 9
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% % ‘ f@ t vier Briiche, Dezimalstellen, Reihenfolge der

Operationen
Name: Datum: Ergebnis:
1 1 3 43 7 2 1 232 7
-+ -+5x—-=—==3— ——4,2x44+8X =+4=(——)= (15—
374775 2 1 37 H2xATEXgTAm () = )

1 677 17 1 173 3
— - 2-20%4,5+4=(——)=(33—) 2,9-51xd+-=(—)=(-17—

3 87 2 16 3
2,8+2,8x5+2 =" =17% 4,6 - +o=(-—) = (6=
,8+2,8%5 - 75 ,6-3,7x3 5 (10) (610)

3 2 753 1 1049 29
Y xS+ 4x4g= =182 4.8+ = x4+1 L= 7y
3 073 *48=7 =187 B X a+10%5,9 30 30

1 53 3 1 41
—+12x2,1+4-3x58=(——)=(-10- —+2,5x5-4,8=— =28
2 ’ ’ ( 5) ( 5) 2 7 ’ 5

n| —

www.snowmath.com


https://www.snowmath.com

